TecTMpoBaHMe Ha TecTax 9-16 He BbINOJHANOCL, TaK KaK TeCT 8 He NPOMAEH, M OLEHKA 3a rpynny TecTos
1 -0 6annos.. TecTupoBaHUe Ha TectTax 17-32 He BbINO/IHANOCH, TaK Kak He NpoiaeHa ogHa 13
Tpebyemsbix rpynn 1. TectupoBaHuMe Ha TecTax 33-53 He BbINO/IHANOCH, TaK KaK He NpoiaeHa ogHa u3
Tpebyemsbix rpynn 1. TectupoBaHuMe Ha TecTax 54-73 He byaeT BbINOJHATLCA NOC/AE OKOHYaHUA Typa, Tak
KaK He npoliaeHa oaHa 13 Tpebyembix rpynn 1.

Solution wasn't judged on tests 9-16, because it failed to pass test 8, so the score for the group 1 is 0.
Solution wasn't judged on tests 17-32, because it didn't manage to pass group 1

and so on for other groups



